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database

orders

payments

products

login  booking  pay  ……

application

Local Transaction
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@Trasnactional 
public void pay(long orderId){ 
  payService.pay(orderId); 
  orderService.updateStatus(orderId, PAY_SUCESS); 
}
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OC Booking UserCenter Pay ……

order db booking db user db pay db ……
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@Trasnactional 
public void pay(long orderId){ 
  payService.pay(orderId); 
  orderService.updateStatus(orderId, PAY_SUCESS); 
}
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BASE 
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public void pay(long orderId){ 
  payService.pay(orderId); 
  orderService.updateStatus(orderId, PAY_SUCCESS); 
}

A Job 
Step1. scan payments table 
Step2. check order status 
Step3. update lost status(retry to success)
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So many jobs……
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Transactional Message Queue

@Transactional 
public void pay(long orderId){ 
  payService.pay(orderId); 
  producer.send(buildMessage(orderId)); 
}

public void onMessage(Message msg){ 
  orderServer.updateStatus(msg.getLong(“orderId”)); 
}
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DB Instance 3306

B DB1

B DB2 M DB

Local Transactional
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@Transactional
public void pay(long orderId){ 

payService.pay(orderId); 

//producer.send(buildMessage(orderId)); 

//  
final Message payEvent = buildMessage(orderId); 
messageDAO.save(payEvent); 
postTransactionCommit(new Action(){ 

@Override 
public void apply(){ 

transport.send(payEvent); 
} 

}); 
}
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Local Transaction

producer

B DB M DB

server

task

1.begin tx 2. work
3. insert message

4. commit

5. send out

6. delete

7. scan

8. retry
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First Version

id message id content

1

2

3

19490488914

19477488902

19434488345

…

…

…
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19490488914

19490488914

19490488914

oc

flight
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state

SENT

ACKED

NACK

messages table 

send state table

check send state job
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Second Version

id message id content

1
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3
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19477488902
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…

…

key group

19490488914 oc
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send state HMSET

scan messages
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We want…
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Kafka 

RocketMQ
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topic

partition1

partition2

partition3

consumer1

consumer2

consumer3

Log —  

Offset — Kafka
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message log consume queue
consumer1

consumer2

consumer3

RocketMQ
partition



2017.thegiac.com

partition1

partition2

partition3

consumer1

consumer2

consumer3

consumer4 idle
partition consumer
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partition1

partition2

partition3

consumer1

consumer2

partition consumer
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partition1

partition2

partition3

34

18

1

23

Kafka

consumers

partition consumer
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partition consumer
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All problems in computer science can be solved by another level of indirection. 

--David Wheeler



2017.thegiac.com

message log consume log

2   3     6

pull log
consumer1

consumer2

consumer3
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QMQ
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QMQ
• consumer ”partition” (pull log) 

•  

• partition 

• consumer  

•  

•
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1.6
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QMQ
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Thank You
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